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1)

Question Stimulus :­

Fill in the blank with the correct option.

Even when you win a match you always feel you _____have played better.

must not

can

could

ought to

Correct Answer :­could 

2)

Question Stimulus :­

Fill in the blank with the correct option.

You _____give the bank a written notification if you wish to close your account.

must

can

may

might

Correct Answer :­must 

3)

Question Stimulus :­

Fill in the blank with the correct option.

The President ______come to visit our offices tomorrow if the meeting finishes before
5 pm.



must

need

should

may

Correct Answer :­may 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

The concert had to be called_____ due to bad weather.

on

at

for

off

Correct Answer :­off 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

You will be brought _____the disciplinary panel to account for your behaviour.

besides

before

between

in

Correct Answer :­before 

6)

Question Stimulus :­

Fill in the blank with the correct prepositions.



The ship reached the harbor ____ the 10th ____ June,1998.

at, in

in, of

on, of

from, of

Correct Answer :­on, of 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

The little girl has been ill ______two days.

from

since

for

by

Correct Answer :­for 

8)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

We left

in such hurry that

we forgot our tickets.

No Error

Correct Answer :­in such hurry that 

9)

Question Stimulus :­



DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you had waiting for the bus,

you should better

take a taxi.

No Error

Correct Answer :­If you had waiting for the bus, 

10)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

I will help him

provided he

will mend his ways

No Error.

Correct Answer :­will mend his ways 

11)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Unless he will not take care

of his health,

he will not recover.

No Error

Correct Answer :­Unless he will not take care 



12)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If I had a million dollars,

I would

buy a big house.

No Error

Correct Answer :­No Error 

13)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A bad tree

does not yields

good apples.

No Error

Correct Answer :­does not yields 

14)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

All good things

comes to those

who wait for them.

No Error



Correct Answer :­comes to those 

15)

Question Stimulus :­

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Copernicus have concluded

that the Earth goes

round the Sun.

No Error

Correct Answer :­Copernicus have concluded 

16)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

The higher you go, the colder it is.

Higher you go, colder it is.

The higher you go, colder it is.

Higher you go, the colder it is.

Correct Answer :­The higher you go, the colder it is. 

17)

Question Stimulus :­

Fill in the blank with the correct option.

He always carries _____dollars for emergencies.

few

a few

the few

a little



Correct Answer :­a few 

18)

Question Stimulus :­

Fill in the blank with the correct option.

Unfortunately, I had ______time to enjoy New York because I had to work so much.

little

a little

the little

few

Correct Answer :­little 

19)

Question Stimulus :­

Fill in the blank with the correct option.

She has ______friends who can help her in the time of difficulty.

a few

the few

little

a little

Correct Answer :­a few 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, “Will you listen to such a man?”

He asked them whether they will listen to such a man.

He asked them whether they could listen to such a man.



He asked them whether they can listen to such a man.

He asked them whether they would listen to such a man.

Correct Answer :­He asked them whether they would listen to such a man. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said to him, “Please wait here till I return.”

He requested him to wait here till he returns.

He requested him to wait there till he returns.

He requested him to wait there till he is returning.

He requested him to wait there till he returned.

Correct Answer :­He requested him to wait there till he returned. 

22)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, “Why were you absent yesterday.”

The teacher asked the student why he had been absent the previous day.

The teacher asked the student why he was absent the previous day.

The teacher asked the student why he has been absent the previous day.

The teacher asked the student why he had been absent yesterday.

Correct Answer :­The teacher asked the student why he had been absent the
previous day. 

23)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.



Does she do her duty?

Are duties done by her?

Is her duty done by her?

Has her duty been done by her?

Have her duties being done by her?

Correct Answer :­Is her duty done by her? 

24)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Who does not obey you?

You are not obeyed by who?

You are not obeyed by whom?

By who are you not obeyed ?

By whom are you not obeyed?

Correct Answer :­By whom are you not obeyed? 

25)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the Labourers.

The Labourers is cutting the firewood.

The Labourers are cutting the firewood.

The Labourers have been cutting the firewood.

The Labourers have cut the firewood.

Correct Answer :­The Labourers are cutting the firewood. 

26)



Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve­carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re­emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. Elmo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

 

What does the phrase ‘drill into' mean?

To penetrate some surface by boring.

To destroy something by blasting it.

To break it into infinite pieces.

None of the above.

Correct Answer :­To penetrate some surface by boring. 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve­carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re­emerge shortly after treatment.



The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. Elmo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

 

Why does the writer say ‘Infections in the roots of teeth are hell to treat’?

Because the treatment is very costly and available only outside India.

Because the treatment can be done anywhere and everywhere.

Because the treatment is very prolonged and painstaking.

None of the above.

Correct Answer :­Because the treatment is very prolonged and painstaking. 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve­carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re­emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.



Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. Elmo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

 

How can the biofilms be destroyed?

By the use of dental plasma torch

By giving regular antibiotics

By drilling and blasting alternately

None of the above

Correct Answer :­By the use of dental plasma torch 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve­carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re­emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be



gangrene. And if Dr. Jiang’s version of St. Elmo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

 

What is the first step of the treatment of tooth infection?

Drilling into the root of the tooth

Cleansing or removing of infected material

Filling of tooth cavities

None of the above

Correct Answer :­Drilling into the root of the tooth 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve­carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re­emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. Elmo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

 

What is ‘gangrene'?

An uprooted teeth



A serious and potentially life­threatening condition

A wounded lower jaw

None of the above

Correct Answer :­A serious and potentially life­threatening condition 

Topic:­ Hindi
1)

Question Stimulus :­

िन쫳ĀिलĀखत ग㢢Āाशं को 㲥Āानपवू㸭Āक पढ़कर उसके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

ससंार मᘮĀ 䐴Ā᲋Āके सुंदर व捀  ुउस सीमा तक ह ैिजस सीमा तक वह जीवन की िविवधता के साथ सामजं䡁Ȁ की Ā슄Ȁथित बनाए Āए है
और 䐴Ā᲋Āके िव搰Āप व捀  ुउसी सीमा तक िव搰Āप ह ैिजस सीमा तक वह जीवन帘Ȁापी सामजं䡁Ȁ को िछ㚺Ā­िभ㚺Ā करती ह।ै अतः यथाथ㸭Ā
का 㙢Ȁ訪Ȁा जीवन की िविवधता मᘮĀ 帘ȀाⓃĀ सामजं䡁Ȁ को िबना जान ेअपना िनण㸭Āय उपĀ슄Ȁथत नही ंकर पाता और करे भी तो उस ेजीवन की
Ȁीकृित नही ंिमलती और जीवन के सजीव 瘸Ȁश㸭Ā के िबना केवल सुंदर को एकĀ कर दᘮĀन ेका वही प숝Āरणाम अव䒄Ȁ य哷Āावी ह,ै जो नरक­
Ȁग㸭Ā की सिृ訪Ȁ का Āआ। ससंार मᘮĀ सबस ेअिधक दडंनीय वह 帘ȀĀ칀Ā ह ैिजसन ेयथाथ㸭Ā के कुĀ劍Āत पꉈĀ को एकĀ कर नरक का
आिव爩Ȁार कर डाला, ᱆Āोिंक इस िचĀ न ेमन瀮ुȀ की सारी बब㸭Āरता को चनु­चनुकर ऐस े껥Āौरेवार 䐴Āदिश㸭Āत िकया िक जीवन के कोन­े
कोन ेमᘮĀ नरक गढ़ा जान ेलगा। इसके उपरातं उस ेयथाथ㸭Ā के अकेल ेसखुपꉈĀ को पूंजीभतू कर इस तरह सजाना पड़ा िक मन瀮ुȀ उसे
खोजन ेके िलए जीवन को िछ㚺Ā­िभ㚺Ā करन ेलगा।

 

उ칀Ā ग㢢Āाशं मᘮĀ िकस बात के 䐴Āित सत㸭Āक िकया गया ह?ै

बुĀ岚Ā के अितरेक के 䐴Āित

क∍Ȁना के अितरेक के 䐴Āित

यथाथ㸭Ā की एंकागी अिभ帘ȀĀ칀Ā के 䐴Āित

सौĀय㸭Ā के अितरेक के 䐴Āित

Correct Answer :­क∍Ȁना के अितरेक के 䐴Āित 

2)

Question Stimulus :­

िन쫳ĀिलĀखत ग㢢Āाशं को 㲥Āानपवू㸭Āक पढ़कर उसके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

ससंार मᘮĀ 䐴Ā᲋Āके सुंदर व捀  ुउस सीमा तक ह ैिजस सीमा तक वह जीवन की िविवधता के साथ सामजं䡁Ȁ की Ā슄Ȁथित बनाए Āए है
और 䐴Ā᲋Āके िव搰Āप व捀  ुउसी सीमा तक िव搰Āप ह ैिजस सीमा तक वह जीवन帘Ȁापी सामजं䡁Ȁ को िछ㚺Ā­िभ㚺Ā करती ह।ै अतः यथाथ㸭Ā
का 㙢Ȁ訪Ȁा जीवन की िविवधता मᘮĀ 帘ȀाⓃĀ सामजं䡁Ȁ को िबना जान ेअपना िनण㸭Āय उपĀ슄Ȁथत नही ंकर पाता और करे भी तो उस ेजीवन की
Ȁीकृित नही ंिमलती और जीवन के सजीव 瘸Ȁश㸭Ā के िबना केवल सुंदर को एकĀ कर दᘮĀन ेका वही प숝Āरणाम अव䒄Ȁ य哷Āावी ह,ै जो नरक­
Ȁग㸭Ā की सिृ訪Ȁ का Āआ। ससंार मᘮĀ सबस ेअिधक दडंनीय वह 帘ȀĀ칀Ā ह ैिजसन ेयथाथ㸭Ā के कुĀ劍Āत पꉈĀ को एकĀ कर नरक का



आिव爩Ȁार कर डाला, ᱆Āोिंक इस िचĀ न ेमन瀮ुȀ की सारी बब㸭Āरता को चनु­चनुकर ऐस े껥Āौरेवार 䐴Āदिश㸭Āत िकया िक जीवन के कोन­े
कोन ेमᘮĀ नरक गढ़ा जान ेलगा। इसके उपरातं उस ेयथाथ㸭Ā के अकेल ेसखुपꉈĀ को पूंजीभतू कर इस तरह सजाना पड़ा िक मन瀮ुȀ उसे
खोजन ेके िलए जीवन को िछ㚺Ā­िभ㚺Ā करन ेलगा।

 

सुंदर व捀  ुजीवन की िविवधता के साथ ᱆Āा करती ह?ै

帘ȀवĀ슄Ȁथत

िवĀ챝Ā㚺Ā

सम킾Āय

सामजं䡁Ȁ

Correct Answer :­सामजं䡁Ȁ 

3)

Question Stimulus :­

िन쫳ĀिलĀखत ग㢢Āाशं को 㲥Āानपवू㸭Āक पढ़कर उसके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

ससंार मᘮĀ 䐴Ā᲋Āके सुंदर व捀  ुउस सीमा तक ह ैिजस सीमा तक वह जीवन की िविवधता के साथ सामजं䡁Ȁ की Ā슄Ȁथित बनाए Āए है
और 䐴Ā᲋Āके िव搰Āप व捀  ुउसी सीमा तक िव搰Āप ह ैिजस सीमा तक वह जीवन帘Ȁापी सामजं䡁Ȁ को िछ㚺Ā­िभ㚺Ā करती ह।ै अतः यथाथ㸭Ā
का 㙢Ȁ訪Ȁा जीवन की िविवधता मᘮĀ 帘ȀाⓃĀ सामजं䡁Ȁ को िबना जान ेअपना िनण㸭Āय उपĀ슄Ȁथत नही ंकर पाता और करे भी तो उस ेजीवन की
Ȁीकृित नही ंिमलती और जीवन के सजीव 瘸Ȁश㸭Ā के िबना केवल सुंदर को एकĀ कर दᘮĀन ेका वही प숝Āरणाम अव䒄Ȁ य哷Āावी ह,ै जो नरक­
Ȁग㸭Ā की सिृ訪Ȁ का Āआ। ससंार मᘮĀ सबस ेअिधक दडंनीय वह 帘ȀĀ칀Ā ह ैिजसन ेयथाथ㸭Ā के कुĀ劍Āत पꉈĀ को एकĀ कर नरक का
आिव爩Ȁार कर डाला, ᱆Āोिंक इस िचĀ न ेमन瀮ुȀ की सारी बब㸭Āरता को चनु­चनुकर ऐस े껥Āौरेवार 䐴Āदिश㸭Āत िकया िक जीवन के कोन­े
कोन ेमᘮĀ नरक गढ़ा जान ेलगा। इसके उपरातं उस ेयथाथ㸭Ā के अकेल ेसखुपꉈĀ को पूंजीभतू कर इस तरह सजाना पड़ा िक मन瀮ुȀ उसे
खोजन ेके िलए जीवन को िछ㚺Ā­िभ㚺Ā करन ेलगा।

 

सबस ेअिधक दडंनीय 帘ȀĀ칀Ā कौन ह?ै

सौĀय㸭Ā का वीभ劍Ā 搰Āप 䐴Ā捀 तु करन ेवाला

वीभ劍Ā का सौĀय쨭Āकरण करन ेवाला

यथाथ㸭Ā का िघनौना 搰Āप 䐴Ā捀 तु करन ेवाला

क∍Ȁना को यथाथ㸭Ā 搰Āप मᘮĀ 䐴Ā捀 तु करन ेवाला

Correct Answer :­यथाथ㸭Ā का िघनौना 搰Āप 䐴Ā捀 तु करन ेवाला 

4)

Question Stimulus :­



िन쫳ĀिलĀखत ग㢢Āाशं को 㲥Āानपवू㸭Āक पढ़कर उसके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

ससंार मᘮĀ 䐴Ā᲋Āके सुंदर व捀  ुउस सीमा तक ह ैिजस सीमा तक वह जीवन की िविवधता के साथ सामजं䡁Ȁ की Ā슄Ȁथित बनाए Āए है
और 䐴Ā᲋Āके िव搰Āप व捀  ुउसी सीमा तक िव搰Āप ह ैिजस सीमा तक वह जीवन帘Ȁापी सामजं䡁Ȁ को िछ㚺Ā­िभ㚺Ā करती ह।ै अतः यथाथ㸭Ā
का 㙢Ȁ訪Ȁा जीवन की िविवधता मᘮĀ 帘ȀाⓃĀ सामजं䡁Ȁ को िबना जान ेअपना िनण㸭Āय उपĀ슄Ȁथत नही ंकर पाता और करे भी तो उस ेजीवन की
Ȁीकृित नही ंिमलती और जीवन के सजीव 瘸Ȁश㸭Ā के िबना केवल सुंदर को एकĀ कर दᘮĀन ेका वही प숝Āरणाम अव䒄Ȁ य哷Āावी ह,ै जो नरक­
Ȁग㸭Ā की सिृ訪Ȁ का Āआ। ससंार मᘮĀ सबस ेअिधक दडंनीय वह 帘ȀĀ칀Ā ह ैिजसन ेयथाथ㸭Ā के कुĀ劍Āत पꉈĀ को एकĀ कर नरक का
आिव爩Ȁार कर डाला, ᱆Āोिंक इस िचĀ न ेमन瀮ुȀ की सारी बब㸭Āरता को चनु­चनुकर ऐस े껥Āौरेवार 䐴Āदिश㸭Āत िकया िक जीवन के कोन­े
कोन ेमᘮĀ नरक गढ़ा जान ेलगा। इसके उपरातं उस ेयथाथ㸭Ā के अकेल ेसखुपꉈĀ को पूंजीभतू कर इस तरह सजाना पड़ा िक मन瀮ुȀ उसे
खोजन ेके िलए जीवन को िछ㚺Ā­िभ㚺Ā करन ेलगा।

 

सौĀय㸭Ā उपयोगी तभी होता ह ैजब?

जीवन का 瘸Ȁश㸭Ā िमलता है

क∍Ȁना का 瘸Ȁश㸭Ā िमलता है

बुĀ岚Ā का 瘸Ȁश㸭Ā िमलता है

भावना का 瘸Ȁश㸭Ā िमलता है

Correct Answer :­जीवन का 瘸Ȁश㸭Ā िमलता ह ै

5)

Question Stimulus :­

िन쫳ĀिलĀखत ग㢢Āाशं को 㲥Āानपवू㸭Āक पढ़कर उसके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

ससंार मᘮĀ 䐴Ā᲋Āके सुंदर व捀  ुउस सीमा तक ह ैिजस सीमा तक वह जीवन की िविवधता के साथ सामजं䡁Ȁ की Ā슄Ȁथित बनाए Āए है
और 䐴Ā᲋Āके िव搰Āप व捀  ुउसी सीमा तक िव搰Āप ह ैिजस सीमा तक वह जीवन帘Ȁापी सामजं䡁Ȁ को िछ㚺Ā­िभ㚺Ā करती ह।ै अतः यथाथ㸭Ā
का 㙢Ȁ訪Ȁा जीवन की िविवधता मᘮĀ 帘ȀाⓃĀ सामजं䡁Ȁ को िबना जान ेअपना िनण㸭Āय उपĀ슄Ȁथत नही ंकर पाता और करे भी तो उस ेजीवन की
Ȁीकृित नही ंिमलती और जीवन के सजीव 瘸Ȁश㸭Ā के िबना केवल सुंदर को एकĀ कर दᘮĀन ेका वही प숝Āरणाम अव䒄Ȁ य哷Āावी ह,ै जो नरक­
Ȁग㸭Ā की सिृ訪Ȁ का Āआ। ससंार मᘮĀ सबस ेअिधक दडंनीय वह 帘ȀĀ칀Ā ह ैिजसन ेयथाथ㸭Ā के कुĀ劍Āत पꉈĀ को एकĀ कर नरक का
आिव爩Ȁार कर डाला, ᱆Āोिंक इस िचĀ न ेमन瀮ुȀ की सारी बब㸭Āरता को चनु­चनुकर ऐस े껥Āौरेवार 䐴Āदिश㸭Āत िकया िक जीवन के कोन­े
कोन ेमᘮĀ नरक गढ़ा जान ेलगा। इसके उपरातं उस ेयथाथ㸭Ā के अकेल ेसखुपꉈĀ को पूंजीभतू कर इस तरह सजाना पड़ा िक मन瀮ुȀ उसे
खोजन ेके िलए जीवन को िछ㚺Ā­िभ㚺Ā करन ेलगा।

 

‘‘नरक गढ़ा जान ेलगा’’ का अिभ䐴Āाय ह?ै

लोगो ंको यातनाएं दी जान ेलगी

दखुमय बनाया जान ेलगा

सम捀  सखु न訪Ȁ होन ेलगे



जीवन वीभ劍Ā बनन ेलगा

Correct Answer :­लोगो ंको यातनाएं दी जान ेलगी 

6)

Question Stimulus :­

िन쫳ĀिलĀखत का帘Ȁाशं को 㲥Āानपवू㸭Āक पढ़कर उनके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

दो 삾Āाय अगर, तो आधा दो,

पर इसमᘮĀ भी यिद बाधा हो।

तो द ेदो केवल पाचँ गावँ,

रखो अपनी धरती तमाम।

हम वही खशुी स ेखाएँग,े

प숝Āरजन पर अिस न उठाएँग।े

दयु∯Āधन वह भी द ेन सका,

आशीष समाज की ल ेन सका,

उलट ेह숝Āर को बाधँन ेचला।

जब नाश मनजु पर छाता ह,ै

पहल ेिववके पर जाता ह।ै

 

केवल पाचँ गावँ ᱆Āो ंमागँᘮĀ गए होगं?े

पाचँो ंपा桿Āवो ंके िलए

इतन ेगावँ ही काफी थे

इतन ेही गावँ उपलĀ थे

कोई और बात थी

Correct Answer :­पाचँो ंपा桿Āवो ंके िलए 

7)

Question Stimulus :­

िन쫳ĀिलĀखत का帘Ȁाशं को 㲥Āानपवू㸭Āक पढ़कर उनके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 



दो 삾Āाय अगर, तो आधा दो,

पर इसमᘮĀ भी यिद बाधा हो।

तो द ेदो केवल पाचँ गावँ,

रखो अपनी धरती तमाम।

हम वही खशुी स ेखाएँग,े

प숝Āरजन पर अिस न उठाएँग।े

दयु∯Āधन वह भी द ेन सका,

आशीष समाज की ल ेन सका,

उलट ेह숝Āर को बाधँन ेचला।

जब नाश मनजु पर छाता ह,ै

पहल ेिववके पर जाता ह।ै

 

‘अिस’ शȀ द का ᱆Āा अथ㸭Ā ह?ै

ढाल

धनषु

तलवार

रथ

Correct Answer :­तलवार 

8)

Question Stimulus :­

िन쫳ĀिलĀखत का帘Ȁाशं को 㲥Āानपवू㸭Āक पढ़कर उनके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

दो 삾Āाय अगर, तो आधा दो,

पर इसमᘮĀ भी यिद बाधा हो।

तो द ेदो केवल पाचँ गावँ,

रखो अपनी धरती तमाम।

हम वही खशुी स ेखाएँग,े

प숝Āरजन पर अिस न उठाएँग।े



दयु∯Āधन वह भी द ेन सका,

आशीष समाज की ल ेन सका,

उलट ेह숝Āर को बाधँन ेचला।

जब नाश मनजु पर छाता ह,ै

पहल ेिववके पर जाता ह।ै

 

कौन िकसको बाधँन ेचला?

दयु∯Āधन कृ般Ȁ को

कृ般Ȁ दयु∯Āधन को

दयु∯Āधन अज㸭ुĀन को

अज㸭ुĀन दयु∯Āधन को

Correct Answer :­दयु∯Āधन कृ般Ȁ को 

9)

Question Stimulus :­

िन쫳ĀिलĀखत का帘Ȁाशं को 㲥Āानपवू㸭Āक पढ़कर उनके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

दो 삾Āाय अगर, तो आधा दो,

पर इसमᘮĀ भी यिद बाधा हो।

तो द ेदो केवल पाचँ गावँ,

रखो अपनी धरती तमाम।

हम वही खशुी स ेखाएँग,े

प숝Āरजन पर अिस न उठाएँग।े

दयु∯Āधन वह भी द ेन सका,

आशीष समाज की ल ेन सका,

उलट ेह숝Āर को बाधँन ेचला।

जब नाश मनजु पर छाता ह,ै

पहल ेिववके पर जाता ह।ै

 



िववके पहल ेकब मर जाता ह?ै

जब मन瀮ुȀ का नाश होना होता है

जब 帘ȀĀ칀Ā अहकंार 츱Ā捀  हो जाता है

जब उस ेकुछ नही ंसझूता

कोई अ삾Ā कारण

Correct Answer :­जब मन瀮ुȀ का नाश होना होता ह ै

10)

Question Stimulus :­

िन쫳ĀिलĀखत का帘Ȁाशं को 㲥Āानपवू㸭Āक पढ़कर उनके नीच ेिदय ेगय ेबĀिवक∍Ȁी 䐴Ā䒄Ȁ नो ंमᘮĀ सही िवक∍Ȁ का चयन करᘮĀ।

 

दो 삾Āाय अगर, तो आधा दो,

पर इसमᘮĀ भी यिद बाधा हो।

तो द ेदो केवल पाचँ गावँ,

रखो अपनी धरती तमाम।

हम वही खशुी स ेखाएँग,े

प숝Āरजन पर अिस न उठाएँग।े

दयु∯Āधन वह भी द ेन सका,

आशीष समाज की ल ेन सका,

उलट ेह숝Āर को बाधँन ेचला।

जब नाश मनजु पर छाता ह,ै

पहल ेिववके पर जाता ह।ै

 

‘‘दो 삾Āाय अगर तो आधा दो’’ यह बात कौन िकसस ेकह रहा ह?ै

कृ般Ȁ अज㸭ुĀन से

कृ般Ȁ दयु∯Āधन से

अज㸭ुĀन दयु∯Āधन से

कृ般Ȁ यिुध㸫Ȁर से



Correct Answer :­कृ般Ȁ दयु∯Āधन स े

11)

Question Stimulus :­

‘‘अवचतेन’’ शȀ द मᘮĀ 䐴Āय칀ुĀ उपसग㸭Ā ह­ै

अवक

अ

अव

अवका

Correct Answer :­अव 

12)

Question Stimulus :­

‘‘िन’’ उपसग㸭Ā स ेिनिम㸭Āत शȀ द नही ंह­ै

िनिहत

िनकुंज

िनधन

िनग㸭ुĀण

Correct Answer :­िनग㸭ुĀण 

13)

Question Stimulus :­

‘‘अनजु’’ शȀ द को ꠵Ȁीवाचक बनान ेके िलए आप िकस 䐴Ā᲋Āय का 䐴Āयोग करᘮĀग?े

इक्

ईय

आ

ई

Correct Answer :­आ 

14)



14)

Question Stimulus :­

िन쫳ĀिलĀखत मᘮĀ स ेकौन­सा शȀ द 䐴Ā᲋Āय स ेबना ह?ै

दहेदान

पीकदान

जीवनदान

उपय㸭ुĀ칀Ā सभी

Correct Answer :­उपय㸭ुĀ칀Ā सभी 

15)

Question Stimulus :­

िवहगंम­㙢Ȁि訪Ȁ का अथ㸭Ā ह­ै

सरसरी 㙢Ȁि訪Ȁ

स髺Āक् 㙢Ȁि訪Ȁ

गहरी 㙢Ȁि訪Ȁ

पनैी 㙢Ȁि訪Ȁ

Correct Answer :­स髺Āक् 㙢Ȁि訪Ȁ 

16)

Question Stimulus :­

‘कूपमडंूक होना’ महुावरा का अथ㸭Ā ह­ै

घर मᘮĀ ही रहना

कुएँ मᘮĀ िगरना

अ᲋Āतं सीिमत ṢĀान होना

मखू㸭Ā होना

Correct Answer :­अ᲋Āतं सीिमत ṢĀान होना 

17)

Question Stimulus :­



“होश उड़ जाना” के िलए उपय칀ुĀ महुावरा होगा­

घर फूँक तमाशा दखेना

िघ뱎Āी बधँना

िस㙧Āी­िप㙧Āी गमु होना

चटुिकयो ंमᘮĀ उड़ाना

Correct Answer :­िस㙧Āी­िप㙧Āी गमु होना 

18)

Question Stimulus :­

िदय ेगय ेवा᱆Āाशं के िलए एक शȀ द का 䐴Āयोग कीिजए­

‘बड़ी मुĀ⨛Ȁल स ेिभꉈĀा िमलना’

द䒄ुȀ पा呠Ā

दिुन㸭Āवार

दिुभ㸭ĀꉈĀ

दभु䘮Ā㢢Ā

Correct Answer :­दिुभ㸭ĀꉈĀ 

19)

Question Stimulus :­

‘अितविृ訪Ȁ’ शȀ द के िलए वा᱆Āाशं का चयन कीिजए­

अ᲋Āिधक िवचार करना

अ᲋Āिधक वषा㸭Ā होना

अ᲋Āिधक सखूा पड़ना

अ᲋Āिधक सतं訪ुȀ होना

Correct Answer :­अ᲋Āिधक वषा㸭Ā होना 

20)

Question Stimulus :­

िन쫳Ā पंĀ칀Ā मᘮĀ कौन­सा छंद ह­ै



‘‘जय हनमुान ṢĀान गनु सागर।

जय कपीस ितĀ ँलोक उजागर।।

राम दूत अतिुलत बलधामा।

अजंिन पुĀ पवन सतु नामा।।’’

रोला

चौपाई

सोरठा

बरवै

Correct Answer :­चौपाई 

21)

Question Stimulus :­

िन쫳Ā पंĀ칀Āयो ंमᘮĀ कौन­सा छंद ह ै?

‘‘मगंल भवन अमगंल हारी, 帳ĀवĀ सो दशरथ अिजर िबहारी।

दिैहक दिैवक भौितक तापा, राम काज काĀिह नही ं帘Ȁापा’’

सोरठा

दोहा

सवयैा

इनमᘮĀ स ेकोई नहीं

Correct Answer :­इनमᘮĀ स ेकोई नही ं

22)

Question Stimulus :­

CANCELLED

䐴Āाथ㸭Āना पĀ एव ंकाया㸭Āलयीन पĀ................. की Āणेी मᘮĀ आत ेह阮Ā।

帘Ȁापा숝Āरक पĀ

सामािजक पĀ

िनमंĀण पĀ



इनमᘮĀ स ेकोई नहीं

Correct Answer :­帘Ȁापा숝Āरक पĀ 

23)

Question Stimulus :­

िन쫳Ā मᘮĀ स ेश岚ुĀ वत㸭Āनी का चयन कीिजए­

एिसया

숝Āरण

ईसा㸭Ā

एषणा

Correct Answer :­एषणा 

24)

Question Stimulus :­

िन쫳Ā मᘮĀ स ेअश岚ुĀ वत㸭Āनी का चयन कीिजए­

भा爩Ȁर

उपदशे

ऋिष

उपासक

Correct Answer :­भा爩Ȁर 

25)

Question Stimulus :­

मिैथली भाषा का के謐က ह­ै

ित搰Āहत

अयो㲥Āा

कु搰Āजनपद

लखनऊ



Correct Answer :­ित搰Āहत 

26)

Question Stimulus :­

ददर भाषा का दूसरा नाम ह­ै

बलचूी

帳Āिवड़

यनूानी

पशैाची

Correct Answer :­पशैाची 

27)

Question Stimulus :­

िन쫳Ā मᘮĀ स े‘तटनी’ का पया㸭Āयवाची नही ंह­ै

आपगा

तरंिगणी

तरिण

िनझ㸭Ā숝Āरणी

Correct Answer :­तरिण 

28)

Question Stimulus :­

‘पुĀी’ िन쫳Ā मᘮĀ स ेिकसका पया㸭Āयवाची ह­ै

तनय

आ낊Āज

ि䐴Āया

दिुहता

Correct Answer :­दिुहता 

29)



29)

Question Stimulus :­

‘अगम’ का त劍Āम शȀ द ह­ै

अग髺Ā

अꉈĀय

अनकेातं

आगतंकु

Correct Answer :­अग髺Ā 

30)

Question Stimulus :­

‘쩤Ā㸫ेȀ’ का त�Āव शȀ द ह­ै

जय㸫ेȀ

जठे

बड़ा

쩤Āठे

Correct Answer :­जठे 

31)

Question Stimulus :­

‘㙢Ȁगचंल’ का सिंध िव챝Āदे ह­ै

㙢Ȁग+अचंल

㙢Ȁग+ंअचल

㙢Ȁक्+अचंल

㙢Ȁग+चल

Correct Answer :­㙢Ȁक्+अचंल 

32)

Question Stimulus :­



‘मत᱆ैĀ’ मᘮĀ 䐴Āय칀ुĀ सिंध कौन­सी ह?ै

गणु सिंध

दीघ㸭Ā सिंध

यण सिंध

वĀ岚Ā सिंध

Correct Answer :­वĀ岚Ā सिंध 

33)

Question Stimulus :­

सिंध के िकतन ेभदे होत ेह阮Ā?

दो

तीन

चार

पाचं

Correct Answer :­तीन 

34)

Question Stimulus :­

िन쫳Ā िलĀखत 6 वा᱆Āाशं मᘮĀ स े䐴Āथम व अिंतम िनिȀत ह阮Ā, शषे को उिचत 樱Āम मᘮĀ 帘ȀवĀ슄Ȁथत कीिजए।

(1) हमारी िशꉈĀा का

(य) होना चािहए िक हम

(र) मᘮĀ रख सकᘮĀ तथा अपन ेशरीर को

(ल) अपन ेशरीर को अ챝Āी अव슄Ȁथा

(व) 䐴Āथम आदश㸭Ā यह

(6) बलवान व 㙢Ȁढ़ बना सके।

व य र ल

व य ल र

य ल र व



र य ल व

Correct Answer :­व य ल र 

35)

Question Stimulus :­

िन쫳Ā वा᱆Āाशं को उिचत 樱Āम मᘮĀ 帘ȀवĀ슄Ȁथत कीिजए­

(य) बाद मᘮĀ आय∯Ā न ेऐसा नही ंसमझा

(र) परमा낊Āा के िलए िव般Ȁ ुऔर नारायण

(ल) विैदक काल की आरंिभक अव슄Ȁथा मᘮĀ

(व) नाम भी 䐴Āय칀ुĀ होता था लिेकन

ल र व य

र ल व य

व ल र य

य ल र व

Correct Answer :­ल र व य 

36)

Question Stimulus :­

आचाय㸭Ā भरत न ेिकतन ेअलकंारो का उ騎Ȁखे िकया ह?ै

दो

चार

छः

आठ

Correct Answer :­चार 

37)

Question Stimulus :­

‘राधा का मखु च帳Ā’ पंĀ칀Ā मᘮĀ अलकंार ह­ै

उपमा



सकंर

搰Āपक

यमक

Correct Answer :­搰Āपक 

38)

Question Stimulus :­

िन쫳Ā मᘮĀ सᘮĀ श岚ुĀ वा᱆Ā छािँटए­

तमु मरेे िमĀ हो, म阮Ā त㸁ुȀᘮĀ खबू जानता ☱Ā।ँ

तमु मरेे िमĀ हो, म阮Ā आपको खबू जानता ☱Ā।ँ

म阮Ā त㸁ुȀᘮĀ जानत ☱Ā।ँ

तमु मरेे िमĀ ह।ै

Correct Answer :­तमु मरेे िमĀ हो, म阮Ā त㸁ुȀᘮĀ खबू जानता ☱Ā।ँ 

39)

Question Stimulus :­

िन쫳Ā मᘮĀ सᘮĀ अश岚ुĀ वा᱆Ā छािँटए­

अ㲥Āापक जी पढ़ा रही ह阮Ā।

अ㲥Āापक जी पढ़ा रह ेह阮Ā।

अ㲥Āािपका जी पढ़ा रही ंह阮Ā।

अ㲥Āापक जी पढ़ात ेह阮Ā।

Correct Answer :­अ㲥Āापक जी पढ़ा रही ह阮Ā। 

40)

Question Stimulus :­

िन쫳Ā पंĀ칀Āयो ंका सꉈंĀपेण कीिजए­

ससंार का कोई भी धम㸭Ā आदमी ­ आदमी मᘮĀ बरै रखना नही ंिसखाता। सभी धम㸭Ā यही कहत ेह阮Ā ­ सभी मानव समान ह阮Ā। आ䒄Ȁ चय㸭Ā की
बात यही ह阮Ā िक सभी को समान कहत ेĀए भी व ेआपस मᘮĀ लडत ेह阮Ā। उन सब मᘮĀ एक बरुाई समान 搰Āप स ेघर कर जाती ह।ै व ेȀयं
को सबस ेखास समझन ेलगत ेह阮Ā। उनके मन म ेयह गमुान होन ेलगता ह ैिक उनके धम㸭Ā को मानन ेवाल ेससंार म ेसव㸭ĀĀ㸫ेȀ ह।ै यही ंसे
औरो ंको नीचा मानन ेकी श搰ुĀआत हो जाती ह।ै ससंार मᘮĀ अनके धम㸭Ā ह।ै सभी धम㸭Ā एक दूसरे स ेटकरान ेको तयैार रहत ेह।ै उनकी
इस टकराहट का लाभ उठात ेह阮Ā ­ कुछ Ȁाथ쨭Ā नतेा।



लड़का­लड़की एक समान

मज़हब नही ंिसखाता आपस मᘮĀ बरै रखना

अिधकार और कत㸭Ā帘Ȁ

अनशुासन

Correct Answer :­मज़हब नही ंिसखाता आपस मᘮĀ बरै रखना 

41)

Question Stimulus :­

इनमᘮĀ स ेकौन­सा िवक∍Ȁ बाकी तीनो ंिवक∍Ȁो ंस ेपरूी तरह अलग ह?ै

महीधर

महावीर

शषेनाग

पव㸭Āत

Correct Answer :­महावीर 

42)

Question Stimulus :­

CANCELLED

िन쫳Ā मᘮĀ स े‘सारंग’ शȀ द का अनकेाथ쨭Ā शȀ द ह­ै

कोयल

चातक

काक

खजंन

Correct Answer :­कोयल 

43)

Question Stimulus :­

‘उꡝĀ숝Āरत’ के िलए िवलोम शȀ द होगा­

अनꡝुĀ숝Āरत



अनउुꡝĀ숝Āरत

अउꡝĀ숝Āरत

इनमᘮĀ स ेकोई नहीं

Correct Answer :­अनꡝुĀ숝Āरत 

44)

Question Stimulus :­

‘कुंिठत’ का िवलोम इनमᘮĀ स ेनही ंह­ै

कुिटल

अकुंिठत

तीखा

धारदार

Correct Answer :­कुिटल 

45)

Question Stimulus :­

जहा ँवा᱆Ā की गित अिंतम 搰Āप ल ेल ेिवचार के तार एकदम टूट जाएं, वहा ंिकस िवरामिचहं का 䐴Āयोग होता ह­ै

योजक

उ岚Āरण

अ∍Ȁिवराम

पणू㸭Ā िवराम

Correct Answer :­पणू㸭Ā िवराम 

46)

Question Stimulus :­

गीता महाका帘Ȁ के रिचयता कौन ह阮Ā?

महिष㸭Ā वदे帘Ȁास

महिष㸭Ā वदे帘Ȁा



तलुसीदास

वा胠 ीिक

Correct Answer :­महिष㸭Ā वदे帘Ȁास 

47)

Question Stimulus :­

‘भĀ칀Āरसामतृिसधं’ु िकसकी रचना ह?ै

कुलपित िमĀ

िभखारीदास

केशवदास

搰ĀपगोȀामी

Correct Answer :­搰ĀपगोȀामी 

48)

Question Stimulus :­

‘‘जीिवत सनु ि䐴Āय िमलन िहत, सĀख­सĀख िजय शषे ’’ पंĀ칀Ā मᘮĀ 䐴Āय칀ुĀ रस ह­ै

रो帳Ā

क搰Āण

हा䡁Ȁ

भयानक

Correct Answer :­क搰Āण 

49)

Question Stimulus :­

अतीत के चलिचĀ नामक िनबधं के िनबधंकार िन쫳Ā मᘮĀ स ेकौन ह阮Ā?

महादवेी वमा㸭Ā

सिुमĀानदंन पतं

सयू㸭Āकातं िĀपाठी िनराला



जयशकंर 䐴Āसाद

Correct Answer :­महादवेी वमा㸭Ā 

50)

Question Stimulus :­

‘‘बादल की म᲋ृĀ ु’’ नामक एकाकंी के लखेक िन쫳Ā मᘮĀ स ेकौन ह?ै

िव般Ȁ ु䐴Āभाकर

उप謐ेကनाथ ‘अ爩Ȁ’

कामता 䐴Āसाद ग搰ुĀ

डॉ. रामकुमार वमा㸭Ā

Correct Answer :­डॉ. रामकुमार वमा㸭Ā 

51)

Question Stimulus :­

िन쫳Ā मᘮĀ स ेिकस शहर स ेसवा㸭Āिधक समाचार पĀ 䐴Āकािशत होत ेह阮Ā?

इदंौर

भोपाल

रीवा

虘Āािलयर

Correct Answer :­भोपाल 

52)

Question Stimulus :­

िन쫳Ā पहलेी का सही उ窅Āर चिुनए­

‘‘पहल ेहती म阮Ā। भोरी भारी, तब सह窅Āी मार। अब मᘮĀ पह窅Āी लाल घघं숝Āरया, अब न सहैो ंमार।।’’

आकाश

पकी मटकी

पका फल

प쒒ृĀी



Correct Answer :­पकी मटकी 

53)

Question Stimulus :­

िन쫳Ā पहलेी का सही उ窅Āर चिुनए­

‘‘गाय चलती जाय, दूध पड़तो जाय।’’

आरी

म혽Āन

च︼Āी

मथानी

Correct Answer :­च︼Āी 

54)

Question Stimulus :­

‘बĀ簴Āीिह’ का श岚ुĀ वत㸭Āनी िव䒄Ȁ लषेण होगा­

ब ्+ अ + ह ्+ व ्+ र् + ई + ह ्+ इ

ब ्+ अ + ह ्+उ + ब ्+ र् + ई + ह + ई

ब ्+ अ + ह ्+ उ + ब ्+ र् + ई + ह ्+ इ

ब ्+ अ + ह ्+ उ + ब ्+ र् + इ + ह ्+ इ

Correct Answer :­ब ्+ अ + ह ्+ उ + ब ्+ र् + ई + ह ्+ इ 

55)

Question Stimulus :­

हलतं य칀ुĀ 帘Ȁजंन तब िलखा जाता ह,ै जब­

帘Ȁजंन मᘮĀ ‘आ’ की माĀा होती ह।ै

帘Ȁजंन मᘮĀ ‘अ’ की माĀा नही ंहोती।

हलतं य칀ुĀ 帘Ȁजंन स젮ंृȀत भाषा का ह।ै

हलतं य칀ुĀ 帘Ȁजंन अपन ेमलू 搰Āप मᘮĀ नही ंहोता।



Correct Answer :­帘Ȁजंन मᘮĀ ‘अ’ की माĀा नही ंहोती। 

56)

Question Stimulus :­

‘‘आपात­आपाद’’ युĀ का सही अथ㸭Ā होगा­

आकĀ䏠 क घटना­मानिसक क訪Ȁ

मानिसक क訪Ȁ­परैो ंतक

आकĀ䏠 क घटना­परैो ंतक

इनमᘮĀ स ेकोई नहीं

Correct Answer :­आकĀ䏠 क घटना­परैो ंतक 

57)

Question Stimulus :­

िन쫳Ā मᘮĀ स ेकोई एक युĀ समोꡝĀा숝Āरत नही ंह,ै चयन कीिजए­

आकर­आकार

असन­आसन

अस칀Ā­अश칀Ā

आदी­अ䫰Ā捀 

Correct Answer :­आदी­अ䫰Ā捀  

58)

Question Stimulus :­

िन쫳Ā मᘮĀ स े‘‘िनरंकुशता’’ शȀ द के समानाथ쨭Ā शȀ द का चयन कीिजए­

Ȁ챝ेĀाचा숝Āरता

ȀतंĀता

आ낊Āिनभ㸭Āरता

वीरता

Correct Answer :­Ȁ챝ेĀाचा숝Āरता 

59)



59)

Question Stimulus :­

िन쫳ĀिलĀखत वा᱆Ā मᘮĀ स ेरेखािंकत शȀ द के समानाथ쨭Ā शȀ द का चयन कीिजए­

‘‘वह परेशान था िक इतन ेकम समय मᘮĀ िकस 䐴Āकार परीꉈĀा की तयैारी करेगा।’’

उदास

दःुखी

हरैान

िचिंतत

Correct Answer :­िचिंतत 

60)

Question Stimulus :­

िन쫳Ā मᘮĀ सᘮĀ 꺢Ā㱭Ȁ꺢Ā समास का उदाहरण नही ंह­ै

पीताĀर

चादँ­सरूज

अ㲥Āापक­अ㲥Āािपका

搰Āपया­पसैा

Correct Answer :­पीताĀर 

61)

Question Stimulus :­

िन쫳Āािंकत मᘮĀ सᘮĀ कौन­सा पद अ帘Ȁयीभाव समास ह?ै

अित鈁�प㸭Āण

आचारकुशल

िदनानिुदन

अनभुवज삾Ā

Correct Answer :­िदनानिुदन 

62)



Question Stimulus :­

‘वीणापािण’ शȀ द िकस समास का उदाहरण ह?ै

꺢Ā㱭Ȁ꺢Ā समास

त�搰ुĀष समास

बĀ簴Āीिह समास

कम㸭Āधाराय समास

Correct Answer :­बĀ簴Āीिह समास 

63)

Question Stimulus :­

िन쫳Ā वा᱆Āो ंमᘮĀ सᘮĀ सयं칀ुĀ वा᱆Ā का चयन कीिजए­

सब अ챝Ā ेह阮Ā।

म阮Āन ेखाना खाया।

य ेभी अ챝Ā ेह阮Ā और व ेभी अ챝Ā ेह阮Ā।

इनमᘮĀ स ेकोई नहीं

Correct Answer :­य ेभी अ챝Ā ेह阮Ā और व ेभी अ챝Ā ेह阮Ā। 

64)

Question Stimulus :­

िन쫳Ā मᘮĀ सᘮĀ भाव वा呠Ā होगा­

कल दरे तक पढ़ा गया

आप गाना गाइए

सलौनी स ेहसंा नही जाता

इनमᘮĀ स ेकोई नहीं

Correct Answer :­सलौनी स ेहसंा नही जाता 

65)

Question Stimulus :­

‘䐴ĀाĀⓃĀ की सचूना दनेा’ के िलए उपय칀ुĀ शȀ द ह­ै



Accept

Acceded to

Acknowledge

इनमᘮĀ स ेकोई नहीं

Correct Answer :­Acknowledge 

66)

Question Stimulus :­

‘Suo motu’ शĀ का अनवुाद ह­ै

Ȁ䐴Āरेणा

पर䐴Āरेणा

䐴Āरेणा

अिभ䐴Āरेणा

Correct Answer :­Ȁ䐴Āरेणा 

67)

Question Stimulus :­

‘टूट चाप नही ंजरुै 숝Āरसान’े लोकोĀ칀Ā का ᱆Āा अथ㸭Ā ह?ै

टूटा धनषु 樱Āोध करन ेस ेनही ंजड़ुता

िचतंा छोड़ो, सखु स ेिजओ

नकुसान के िलए परेशान नही ंहोना चािहए

नकुसान हो जान ेपर 樱Āोध करना 帘Ȁथ㸭Ā होता है

Correct Answer :­नकुसान हो जान ेपर 樱Āोध करना 帘Ȁथ㸭Ā होता ह ै

68)

Question Stimulus :­

‘कमाव ैधोती वाला, उड़ाव ैटोपी वाला’ लोकोĀ칀Ā का ᱆Āा अथ㸭Ā ह?ै

सीध े帘ȀĀ칀Ā कमात ेह阮Ā और िदखावटी उस ेखच㸭Ā करत ेह阮Ā



प숝ĀरĀमी लोग कमात ेह阮Ā और शौकीन उस ेखच㸭Ā करत ेह阮Ā

िपता कमाता ह ैऔर बꡝĀ ेउस ेखच㸭Ā करत ेह阮Ā

इनमᘮĀ स ेकोई नहीं

Correct Answer :­प숝ĀरĀमी लोग कमात ेह阮Ā और शौकीन उस ेखच㸭Ā करत ेह阮Ā 

69)

Question Stimulus :­

‘दज쨭Ā की सईु कभी ताश मᘮĀ कभी टाट मᘮĀ’ लोकोĀ칀Ā का ᱆Āा अथ㸭Ā ह?ै

कोई दोष न होना

खाली न होना

कबाड़ी का काम करना

बकेार होना

Correct Answer :­खाली न होना 

70)

Question Stimulus :­

‘‘रहीम’’ किव िकस बादशाह के दरबारी किव थ?े

बाबर

शरेशाह

शाहजहाँ

अकबर

Correct Answer :­अकबर 

Topic:­ General Knowledge 
1)

Question Stimulus :­

The well­known book “The Rediscovery of India” has been written by– / 䐴Āिस岚Ā प捀ु क “द 숝Āरिड젮Ȁवरी ऑफ़
इिंडया" को इनके 꺢Āारा िलखा गया ह:ै

Meghnad Desai / मघेनाद दसेाई



Vikram Seth / िव樱Āम सठे

Anita Desai / अनीता दसेाई

Arundhati Roy / अ㨰Āधती रॉय

Correct Answer :­Meghnad Desai / मघेनाद दसेाई 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: :
नीच ेिदए गए कूटो ंके आधार पर सही उ窅Āर का चयन करᘮĀ एव ंिमलाएँ:

    List­I                    List­II

1. Bihar                     a. Mumbai

2. West Bengal           b. Thiruvananthapuram

3. Kerala                    c. Kolkata

4. Maharashtra           d. Patna

    सिूच­I                      सिूच­II

1. िबहार                     a. मुंबई

2. पिȀम बगंाल            b. ित㨰Āवनतंपरुम

3. केरल                      c. कोलकाता

4. महारा訪Ȁ縭Ā                  d. पटना

1­c, 2­d, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­d, 2­c, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

What is the source of all the energy on Earth? / प쒒ृĀी पर सम捀  ऊजा㸭Ā का 琻Āोत ᱆Āा ह?ै

Wind Energy / वाय ुऊजा㸭Ā



Gas energy / गसै ऊजा㸭Ā

Solar Energy / सौर ऊजा㸭Ā

Water energy / जल ऊजा㸭Ā

Correct Answer :­Solar Energy / सौर ऊजा㸭Ā 

4)

Question Stimulus :­

Electric bulb filament is made of_______. / िवद्युत ब鐍Ȁ का ततं ु_______ स ेबना है

Aluminium / ए刎Ȁिुमिनयम

Tungsten / टगंȀन

Lead / सीसा

Copper / ताबंा

Correct Answer :­Tungsten / टगंȀन 

5)

Question Stimulus :­

The moon is a ______________. / च帳ंĀ एक ______________  ह।ै

Satellite/ उप츱Āह

Star/ तारा

Planet/ 츱Āह

Sky/ आकाश

Correct Answer :­Satellite/ उप츱Āह 

6)

Question Stimulus :­

What is the main cause of movement in the earth’s atmosphere? / प쒒ृĀी के वायमुडंल मᘮĀ सचंलन का म졋ुĀ कारण ᱆Āा
ह?ै

Difference in a air pressure / वाय ुके दबाव मᘮĀ अतंर

Difference in temperature / तापमान मᘮĀ अतंर



Solar Energy / सौर ऊजा㸭Ā

Wind / वायु

Correct Answer :­Solar Energy / सौर ऊजा㸭Ā 

7)

Question Stimulus :­

Which of the following states is NOT on the border of Himachal Pradesh? / िन쫳Ā मᘮĀ स ेकौन सा रा쩤Ā
िहमाचल 䐴Āदशे की सीमा नही ंह?ै

Jammu & Kashmir / जĀ ूऔर क␡Ȁीर

Punjab / पजंाब

Uttarakhand / उ窅Āराख桿Ā

Rajasthan / राज슄Ȁथान

Correct Answer :­Rajasthan / राज슄Ȁथान 

8)

Question Stimulus :­

Sabarimala Ayyappa Swamy Temple is located in which State? / सबरीमाला अ耠 �Āा Ȁामी मिंदर िकस रा쩤Ā मᘮĀ
Ā슄Ȁथत ह?ै

Maharashtra/ महारा訪Ȁ縭Ā

Andhra Pradesh/ आꈳँĀ 䐴Āदशे

Kerala/ केरल

None of the above/ इनमᘮĀ स ेकोई नहीं

Correct Answer :­Kerala/ केरल 

9)

Question Stimulus :­

Which of the following States abounds in Black soil? / िन쫳ĀिलĀखत रा쩤Āो ंमᘮĀ स ेिकसमᘮĀ काली िम㙧Āी की 䐴Āचरुता ह?ै

Andhra Pradesh / आꈳंĀ䐴Āदशे

Gujarat / गजुरात



Madhya Pradesh / म㲥Ā䐴Āदशे

All of these / य ेसभी

Correct Answer :­All of these / य ेसभी 

10)

Question Stimulus :­

The National Animal of Bangladesh is/ बाꁖंĀादशे का रा訪Ȁ縭Āीय पश ुहै

Lion/ िसहं

Kangaroo/ कंगा搰Ā

Cow/ गाय

Bengal Tiger/ बगंाल टाइगर

Correct Answer :­Bengal Tiger/ बगंाल टाइगर 

11)

Question Stimulus :­

Find the odd one out / िवषम का चनुाव क숝Āरये

West Bengal/ वेȀ बगंाल

Tripura / िĀपरुा

Nagaland / नागाल阮Āड़

Gangtok/ गगंटोक

Correct Answer :­Gangtok/ गगंटोक 

12)

Question Stimulus :­

Which of the following states is on the border of Arunachal Pradesh? / िन쫳Ā मᘮĀ स ेकौन सा रा쩤Ā अ搰Āणाचल
䐴Āदशे की सीमा ह?ै

Manipur / मिणपरु

Meghalaya / मघेालय

Assam / असम



Bihar / िबहार

Correct Answer :­Assam / असम 

13)

Question Stimulus :­

How many ĕmes has Brazil won the World Cup Football? / 簴Āाज़ील न ेफुटबॉल का िव≠  कप िकतनी बार जीता ह?ै

Two ĕmes / दो बार

Three ĕmes / तीन बार

Four ĕmes / चार बार

Five ĕmes / पाचँ बार

Correct Answer :­Five ĕmes / पाचँ बार 

14)

Question Stimulus :­

Find the odd one out / बजेोड़ ढूढ़ँकर िनकालो

London / लदंन

Jamaica/ जमकैा

Poland / पोलड़ं

Sudan / सड़ूान

Correct Answer :­London / लदंन 

15)

Question Stimulus :­

The most salty sea in the world is ________. / िव≠  का सबस ेखारा सम帳ुĀ _______ ह।ै

Red Sea / लाल सागर

Dead Sea / मतृ सागर

Arabian Sea / अरब सागर

Mediterranean Sea / भमू㲥Ā ­ सागर



Correct Answer :­Dead Sea / मतृ सागर 

16)

Question Stimulus :­

Who is the oldest Indian to score an ODI hundred? / एकिदवसीय शतक बनान ेवाल े सबस ेपरुाने
Āखलाड़ी कौन ह阮Ā?

Anil Kumble/ अिनल कुंबले

Sachin Tendulkar/ सिचन तᘮĀदलुकर

Sunil Gavaskar/ सनुील गाव젮Ȁर

Kapil Dev/ किपलदवे

Correct Answer :­Sunil Gavaskar/ सनुील गाव젮Ȁर 

17)

Question Stimulus :­

Who won the men's singles title of 2016 Wimbledon / 2016 िवबंलडन के प㨰ुĀष िसगंल उपािध को िकसन ेजीता?

Roger federer/ रोजरे फ़ेडरेेर

Novak Djokovic/ नोवक जोकोिवक

Rafael Nadal/ राफेल नडाल

Andy Murray/  एंडी मरे

Correct Answer :­Andy Murray/  एंडी मरे 

18)

Question Stimulus :­

What was the legal name of Legendary Boxer Muhammad Ali? / िद豎Āज बॉ桉Āर महुĀद अली का िविधक नाम ᱆Āा
था?

Muhammad Ali / महुĀद अली

Mike Tyson / माइक टायसन

Cassius Clay / कैिसयस 癇Āे

Lala Ali / ललैा अली



Correct Answer :­Cassius Clay / कैिसयस 癇Ā े

19)

Question Stimulus :­

Which one of the following sports has been included by the Internaĕonal Olympic Commiĥee in 2020 Tokyo Olympics?
/ अतंररा訪Ȁ縭Āीय ओलिंपक सिमित 꺢Āारा, 2020 टो᱆Āो ओलिंप桉Ā के िलए िन쫳Ā मᘮĀ स ेिकस खले को शािमल िकया
गया ह?ै

Sports Climbing /  瘸Ȁोट㸭Āस 癇ĀाइĀĀगं

Surfing  / सिफꐭĀग

So├ball / सॉ훐Ā बॉल

All of the above / उपरो칀Ā सभी

Correct Answer :­All of the above / उपरो칀Ā सभी 

20)

Question Stimulus :­

____________ series has celebrated its Silver Jubilee on April 2016? / ____________ Āृंखला न ेअ䐴Āलै 2016 मᘮĀ अपनी
रजत जयतंी मनायी।

Hockey India League / हॉकी  इिंडया लीग

Sultan Azlan Shah Cup  / स퐊ुȀान अज़लान शाह कप

Premier Hockey League / 䐴Āीिमयर हॉकी लीग

Asian Hockey Championship / एिशयन हॉकी चĀ飵Āयनिशप

Correct Answer :­Sultan Azlan Shah Cup  / स퐊ुȀान अज़लान शाह कप 

21)

Question Stimulus :­

This famous person led the March on Washington for Jobs and Freedom in 1963 ____. /
 इस 䐴Āिस岚Ā 帘ȀĀ칀Ā न े1963 मᘮĀ नौक숝Āरयो ंऔर Ȁत犬Āता के िलए वािशगंटन मᘮĀ जलुसू का नतेृĀ िकया था ____

Abraham Lincoln  / अ簴Āाहम िलकंन

George HW Bush / जॉज㸭Ā एच ड䋨Ā ूबशु

Martin Luther King Jr. / मािट㸭Āन लथूर िकंग जिूनयर



Richard Nixon / 숝Āरचड㸭Ā िन桉Āन

Correct Answer :­Martin Luther King Jr. / मािट㸭Āन लथूर िकंग जिूनयर 

22)

Question Stimulus :­

Find the odd one out  / िवषम का चनुाव क숝Āरये

Toyota/ टोयटा

Nissan/ िनशान

Royal Enfield / रॉयल एनफी嘉Ȁ

Volvo / वो선 ो

Correct Answer :­Royal Enfield / रॉयल एनफी嘉Ȁ 

23)

Question Stimulus :­

The head office of State Bank of India is in / भारतीय Ȁटे ब阮Āक का म졋ुĀालय है

Bangalore / ब阮Āगलोर

Delhi / िद騎Ȁी

Kolkata / कोलकाता

Mumbai / मुंबई

Correct Answer :­Mumbai / मुंबई 

24)

Question Stimulus :­

Which of the following States leads in commerce and industry? / इनमᘮĀ स ेवािण쩤Ā और उ㢢Āोग मᘮĀ अ츱Āणी रा쩤Ā कौन
ह?ै

Maharashtra / महारा訪Ȁ縭Ā

Tamil Nadu / तिमलनाडु

Uttar Pradesh / उ窅Āर 䐴Āदशे

West Bengal / पिȀम बगंाल



Correct Answer :­Maharashtra / महारा訪Ȁ縭Ā 

25)

Question Stimulus :­

Which of the following persons got both the Nobel Prize and Bharath Ratna Award? /  िन쫳Ā
मᘮĀ स ेिकस 帘ȀĀ칀Ā को नोबले प搰ुĀ젮Ȁार और भारत र몆Ā प㨰ुĀ젮Ȁार दोनो ंिमल ेह阮Ā?

Mother Teresa / मदर टरेेसा

M.K.Gandhi / एम.के.गाधँी

Atal Bihari Vajpayee / अटल िबहारी वाजपयेी

None of these / इनमᘮĀ स ेकोई नहीं

Correct Answer :­Mother Teresa / मदर टरेेसा 

26)

Question Stimulus :­

Who among the following is Father of Economics? / िन쫳Ā मेँ कौन अथ㸭Āशा꠵Ȁ के जनक के 搰Āप मᘮĀ जाना जाता हैँ?

Aristotle / अर捀 ू

Aryabhatta / आय㸭Āभ㙧Āा

Adam Smith / एडम Ā䏠 थ

None of these / इनम ेस ेकोई नहीं

Correct Answer :­Adam Smith / एडम Ā䏠 थ 

27)

Question Stimulus :­

Who is known as the father of India's space programme?/ भारतीय अतं숝ĀरꉈĀ काय㸭Ā樱Āम के जनक के 搰Āप मᘮĀ िकसको
जाना जाता ह?ै

Dr Vikram Sarabhai / डॉ िव樱Āम साराभाई

Dr APJ Abdul Kalam / डॉ एपीज ेअĀलु कलाम

Dr. K. Radhakrishnan / डॉ के राधाकृ般Ȁन

Dr. Shanti Swarup Bhatnagar / डॉ शािंत Ȁ㨰Āप भटनागर



Correct Answer :­Dr Vikram Sarabhai / डॉ िव樱Āम साराभाई 

28)

Question Stimulus :­

Professor Amartya Sen is famous for his contributions in which field? / 䐴Āोफेसर अमत㸭Āय सने िकस ꉈĀेĀ मᘮĀ अपने
योगदान के िलए 䐴Āिस岚Ā ह阮Ā?

Agriculture / कृिष

Sports / खले

Culture / स젮ंृȀित

Economics / अथ㸭Āशा꠵Ȁ

Correct Answer :­Economics / अथ㸭Āशा꠵Ȁ 

29)

Question Stimulus :­

Who wrote the famous document ‘The Communist Manifesto’ along with Karl Marx? / काल㸭Ā मा樱Āस के साथ
िकसन े䐴Āिस岚Ā द捀 ावजे ‘द क髺ĀिूनȀ मिेनफेȀो’ िलखा ह?ै

Friedrich Engels / 怴Āड숝Āरक एंग툓ेȀ

Alfred Marshall / अ䊂Ȁ怴Āड माश㸭Āल

Lenin / लिेनन

Joseph Stalin /  जोसफे Ȁािलन

Correct Answer :­Friedrich Engels / 怴Āड숝Āरक एंग툓ेȀ 

30)

Question Stimulus :­

Who is known as “Nightingale of India”? /  भारत की कोिकला" के नाम स ेिकस े जाना जाता ह?ै

Barada Sundari Devi /  बरदा सुंदरी दवेी

Jhansi Rani Lakshmibai /  झासँी रानी ल퉈Āीबाई

Maniben Patel /  मिणबने पटले

Sarojini Naidu /  सरोिजनी नायडू



Correct Answer :­Sarojini Naidu /  सरोिजनी नायडू 

31)

Question Stimulus :­

The capital of Australia________. / ऑȀ縭ेĀिलया की राजधानी _________ ह।ै

Sydney / िसडनी

Melbourne / मलेबोन㸭Ā

Perth / पथ㸭Ā

Canberra / कैनबरा

Correct Answer :­Canberra / कैनबरा 

32)

Question Stimulus :­

Who was the first woman Chief Justice of a High Court in India? / भारत मᘮĀ उꡝĀ 삾Āायालय की 䐴Āथम मिहला म⹑ुȀ
삾Āायाधीश कौन थी?ं

Justice M. Fathima Beevi/ जĀȀस फ़ाितमा बीबी

Justice R. Banumathi /  जĀȀस आर भानमुित

Justice Leila Seth / जĀȀस लीला सठे

None of the above / इनमᘮĀ स ेकोई नहीं

Correct Answer :­Justice Leila Seth / जĀȀस लीला सठे 

33)

Question Stimulus :­

How many terms can a president serve in the United States? / सयं칀ुĀ रा쩤Ā अम숝ेĀरका मᘮĀ एक रा訪Ȁ縭Āपित
िकतनी बार िनय칀ुĀ हो सकता ह?ै

1

2

3

4



Correct Answer :­2 

34)

Question Stimulus :­

NITI Aayog has set the highway network target for 2016­17 at___________ / NITI आयोग न ेराजमाग㸭Ā 䐴Āसार ꉈĀेĀ
2016­17 के िलए तय िकया_________.

76,372 km / 76,372 िकमी

66,302 km / 66,302 िकमी

86,372 km / 86,372 िकमी

56,684 km / 56,684 िकमी

Correct Answer :­86,372 km / 86,372 िकमी 

35)

Question Stimulus :­

Foremost investigative Agency of India is called as / भारत की अ츱Āणी जाचं एजᘮĀसी को ___________ कहा जाता
है

NIC/ एनआईसी

CBI / सीबीआई

CIA / सीआईए

DIR / डीआईआर

Correct Answer :­CBI / सीबीआई 

36)

Question Stimulus :­

Who was the first Governor­General of India?/ भारत के पहल ेगवन㸭Āर जनरल कौन थ?े

Sir John Macpherson / सर जॉन मकैफस㸭Āन

The Earl Cornwallis /  अल㸭Ā कान㸭Āवािलस

Warren Hastings / वारेन हाĀȀ걘ंĀ

The Lord Minto / लॉड㸭Ā िमटंो



Correct Answer :­Warren Hastings / वारेन हाĀȀ걘ंĀ 

37)

Question Stimulus :­

In which year Indus Water Treaty was signed between India and Pakistan? /
 भारत और पिक捀 ान के बीच िस䒲Ā ुजल सिंध पर ह捀 ाꉈĀर िकस वष㸭Ā मᘮĀ Āए थ?े

1960

1964

1948

1955

Correct Answer :­1960 

38)

Question Stimulus :­

Where is the ISRO headquarters situated? / ISRO का म졋ुĀालय कहा ँĀ슄Ȁथत ह?ै

Mumbai / मुंबई

Chennai / च㚺ेĀई

Bangalore / ब阮Āगलोर

Kolkata / कोलकाता

Correct Answer :­Bangalore / ब阮Āगलोर 

39)

Question Stimulus :­

What is the strike range of Prithvi‐II missile, which was recently successfully test‐fired by India? / प쒒ृĀी‐ि꺢Āतीय िमसाइल
की नितलबं सीमा ᱆Āा ह,ै िजसका हाल ही मᘮĀ सफलतापवू㸭Āक भारत 꺢Āारा परीꉈĀण िकया गया?

150 km / िक.मी.

250 km / िक.मी.

350 km / िक.मी.

450 km / िक.मी.



Correct Answer :­350 km / िक.मी. 

40)

Question Stimulus :­

The headquarters of World Anti­Doping Agency is located at______________. / िव≠  डोिपगं रोधी एजᘮĀसी का
म졋ुĀालाय ______________ मᘮĀ Ā슄Ȁथत ह阮Ā।

Sydney, Australia / िसडनी, ऑȀ縭ेĀिलया

Montreal, Canada / मोĀ�Ā縭Āयल, कैनडेा

Geneva, Switzerland / िजनवेा, ĀȀटज़्रल阮Āड

Washington DC, USA / वािशगंटन डीसी, यएूसए

Correct Answer :­Montreal, Canada / मोĀ�Ā縭Āयल, कैनडेा 

41)

Question Stimulus :­

Which country's space agency has released a rocket motor test video in extreme slow motion? / िकस
दशे के अतं숝ĀरꉈĀ अिभकरण न ेअ᲋Āिधक धीमी गित मᘮĀ चलनवेाल ेराकेट मोटर टेȀ वीिडयो का मोचन िकया ह?ै

Japan / जापान

USA/ यएूसए (अम숝ेĀरका)

China/ चीन

India/ भारत

Correct Answer :­USA/ यएूसए (अम숝ेĀरका) 

42)

Question Stimulus :­

Who has won the 2016 Global Indian Award of the year / वष㸭Ā 2016 का ꁖĀोबल इिंडयन परु젮Ȁार िकसन ेजीता ह?ै

Shahrukh Khan / शाह搰Āख खान

Aishwarya Rai Bachchan / ऐ≠ या㸭Ā राय बꡝĀन

Akshaya Kumar / अꉈĀय कुमार

Kangna Ranaut / कंगना रनाउत



Correct Answer :­Aishwarya Rai Bachchan / ऐ≠ या㸭Ā राय बꡝĀन 

43)

Question Stimulus :­

Tha Sangeeta Ratna Award has been instituted in memory of ______________. / सगंीत र몆Ā परु젮Ȁार
______________ की 䏠 िृत मᘮĀ 슄Ȁथािपत िकया गया है

Ustad Rashid Ahmed / उ捀 ाद रािशद अहमद

Ustad Bismilla Khan / उ捀 ाद िबĀ䏠 騎Ȁाह खान

M.S. Subbulakshmi / एम एस स⛣ुĀलु퉈Āी

Pt. Ravishankar / पिंडत रिवशकंर

Correct Answer :­Ustad Bismilla Khan / उ捀 ाद िबĀ䏠 騎Ȁाह खान 

44)

Question Stimulus :­

Who is the author of the book “Anubandh”? / प捀ु क "अनबुधं" के लखेक कौन ह?ै

Chetan Bhagat / चतेन भगत

Suresh Menon / सरुेश मनेन

Arundhaĕ Roy / अ㨰Āधित राय

Ela Bhaĥ / इला भ㙧Ā

Correct Answer :­Ela Bhaĥ / इला भ㙧Ā 

45)

Question Stimulus :­

The tropical cyclone ‘Roanu’ has recently hit in May 2016 which country?  / हाल
ही मेँ उ般Ȁकिटबधंीय च樱Āवात “रोअन”ु न ेमई 2016 मᘮĀ िकस दशे को 䐴Āभािवत िकया था?

Japan/ जापान

China/ चीन

USA / यएूसए

India/ भारत



Correct Answer :­India/ भारत 

46)

Question Stimulus :­

Which state announced the first ever ‘Water Metro Project’ in the country? /  
िकस रा쩤Ā न ेदशे के पहल े‘वॉटर मटे縭Āो 䐴Āोज툿ेĀ’की घोषणा करी।

Andhra Pradesh / आꈳंĀ 䐴Āदशे

Odisha / ओिड़शा

Kerala / केरल

Maharashtra  / महारा预Ȁ ट縭Ā

Correct Answer :­Kerala / केरल 

47)

Question Stimulus :­

Which among the following countries is NOT a member country of SAARC ? / िन쫳ĀिलĀखत मᘮĀ स ेकौन­सा दशे
साक㸭Ā का सद䡁Ȁ दशे नही ंह?ै

Bangladesh / बाꁖंĀादशे

Maldives / मालदीव

China / चीन

Sri Lanka / Āीलकंा

Correct Answer :­China / चीन 

48)

Question Stimulus :­

CANCELLED

Which day is observed as the World Diabetes day?/ िव≠  मधमुहे िदवस कब मनाया जाता ह?ै

14th September/ 14वा ँिसतĀर

1st November/ 1 वा ँनवĀर

24th November/24 वा ँनवĀर



28th November/28 वा ँनवĀर

Correct Answer :­24th November/24 वा ँनवĀर 

49)

Question Stimulus :­

Actor Salman Khan of Bollywood fame was born in / बॉलीवडु के 䐴Āिस岚Ā अिभनतेा सलमान खान का ज钽Ā कहाँ
Āआ था?

Indore  / इदंौर

Ujjain / उᩡĀनै

Rewa / रीवा

Chambal / चĀल

Correct Answer :­Indore  / इदंौर 

50)

Question Stimulus :­

What is Betul famous for in Madhya Pradesh? / म㲥Ā䐴Āदशे के बतैलू मᘮĀ 䐴Āिस岚Ā ᱆Āा ह?ै

Manganese / म阮Āगनीज

Coal reserves / कोयला भडंार

Bauxite / बॉ桉Āाइट

Iron / लोहा

Correct Answer :­Coal reserves / कोयला भडंार 

51)

Question Stimulus :­

The additive inverse of   ×    is ­­­­­­­­­­­­./   ×  योगज 䐴Āितलोम ह ै।

‐ 



Correct Answer :­‐   

52)

Question Stimulus :­

The multiplicative inverse of  ×   is /   ×    / का गणुना낊Āक 䐴Āितलोम ह ै।

‐ 

‐ 

Correct Answer :­  

53)

Question Stimulus :­

When n = ­3 the value of n (n2­7) = _______ (choose the right answer and fill up the blank) / जब n = ­3 ह,ै n (n2­7)
का मान=_______(सही उ窅Āर चिुनय ेऔर 숝Āर칀Ā 슄Ȁथान भ숝Āरय)े

48

­ 6

6

­ 48

Correct Answer :­­ 6 

54)

Question Stimulus :­



There are two circular fields with a radius of 9 ft and 12 ft respectively.  A pit is
dug around the centre of each field with a radius of 3 ft.  The pits thus dug will
have the same _____________________ and _________________ / दो व窅ृĀीय ꉈĀेĀ
ह阮Ā िजनकी िĀ쩤Āा 樱Āमश: 9 फुट और 12 फुट ह.ै 䐴Ā᲋Āके ꉈĀेĀ के िगद㸭Ā एक ग桵Āा खोदा गया िजसकी िĀ쩤Āा 3 फुट ह.ै अत:
खोद ेगय ेग桵Āो ंकी समान_________________और___________होगी

Circumference / प숝Āरिध

Circumference and area / प숝Āरिध और ꉈĀेĀफल

Circumference and volume / प숝Āरिध और आयतन

Circumference, area and volume / प숝Āरिध, ꉈĀेĀफल और आयतन

Correct Answer :­Circumference and area / प숝Āरिध और ꉈĀेĀफल 

55)

Question Stimulus :­

The diagonals of a parallelogram ABCD intersect at O. A line through O intersect
AB at X and DC at Y. if AB = 10 cm, AD = 9 cm, and OX = 5 cm, then the length
of OY is _______________________  / समानातंर चतभु㸭ुĀज ABCD के िवकण㸭Ā O पर 䐴Āित챝Āदे करत ेह阮Ā।
O स ेएक रेखा AB को X पर और DC को Y पर 䐴Āित챝Āदे करती ह।ै यिद AB = 10 समेी, AD = 9 समेी, और OX = 5
समेी ह,ै तो OY की लĀाई है

4 cm / 4 समेी

6 cm / 6 समेी

5 cm / 5 समेी

7 cm / 7 समेी

Correct Answer :­5 cm / 5 समेी 

56)

Question Stimulus :­

Y = 30 + 5m.  The value for this equation to be plotted when m = 0, 2, 4, and 6
is ________________________ / Y = 30 + 5m. इस समीकरण के मान को ỌĀॉट करना ह ैजब m =
0, 2, 4, और 6 है

30, 40, 60, 70

30, 50, 50, 70

30, 40, 50, 60



40, 50, 60, 70

Correct Answer :­30, 40, 50, 60 

57)

Question Stimulus :­

What is the height side of a cube whose volume is 729 m3? /  एक घन की ऊँचाई ᱆Āा है
िजसका आयतन 729 मी3 ह?ै

13m

17 m

9m

10m

Correct Answer :­9m 

58)

Question Stimulus :­

What is the height of the cuboid whose base is 13 ×10 cm and volume is
780cm3? / घनाभ की ऊँचाई ᱆Āा होगी िजसका आधार 13 ×10 समेी ह ैऔर आयतन 780 समेी3 ह?ै

6 cm

3 cm

60 cm

20 cm

Correct Answer :­6 cm 

59)

Question Stimulus :­

If 35% of a number is 700 , how much would be 50% of the same number / यिद िकसी स졋ंĀा का 35 䐴Āितशत 700
ह,ै तो उसी स졋ंĀा का 50 䐴Āितशत िकतना होगा?

2000

1000

3500



1400

Correct Answer :­1000 

60)

Question Stimulus :­

A spinning wheel has 10sectors and  number 20 is marked in 5  sectors 0 in 2
sectors10 in 2sectors and 100 in the rest.What is the probability of getting a
sector with 20? / एक चरख ेके 10 अवखडं ह阮Ā और स졋ंĀा 20, 5 अवखडंो ंमᘮĀ िचĀ䣀Āत ह।ै 2 अवखडंो ंमᘮĀ 0, 2
अवखडंो ंमᘮĀ 10 और बाकी मᘮĀ 100 20 के अवखडं आन ेकी सभंावना ᱆Āा ह?ै

1/10

2/10

1/4

5/10

Correct Answer :­5/10 

61)

Question Stimulus :­

Which of the following has more energy? / िन쫳Ā मᘮĀ स ेिकसमᘮĀ अिधक ऊजा㸭Ā ह?ै

Microwaves / स퉈ूĀ तरंगᘮĀ

X rays / ए桉Ā िकरणᘮĀ

Radiowaves / रेिडयो तरंगᘮĀ

Light waves / 䐴Āकाश तरंगᘮĀ

Correct Answer :­X rays / ए桉Ā िकरणᘮĀ 

62)

Question Stimulus :­

Pick the INCORRECT statement among those given below :8g of Methane and
16g of Oxygen will  / नीच ेिदए गए कथनो ंमᘮĀ स ेगलत कथन का चनुाव करᘮĀ। 8 츱Āाम मीथने और 16 츱Āाम
ऑ桉Āीजन मᘮĀ

Have same number of atoms / परमाणओु ंकी स졋ंĀा समान होगी

Have same number of molecules / अणओु ंकी स졋ंĀा समान होगी



Occupy same volume at S.T.P. / एस.टी.पी मᘮĀ समान आयतन होगा

Have same number of moles. / मो툓Ȁ की स졋ंĀा समान होगी

Correct Answer :­Have same number of atoms / परमाणओु ंकी स졋ंĀा समान होगी 

63)

Question Stimulus :­

The work to be done to stop a car of mass 1200 kg and moving at a speed of 36
km/h is  / 1200 िकलो 帳Ā帘Ȁमान और 36 िकमी/घĀ ेकी चाल स ेचल रही कार को रोकन ेके िलए काय㸭Ā करना होगा

60000 N

60000 J

6000 J

777600 J

Correct Answer :­60000 J 

64)

Question Stimulus :­

CANCELLED

Figure shows the distance‐ĕme graph of two cars A and B moving along a straight road. Which of the following
statements is WRONG? / दी गयी आकृित दो कारᘮĀ A और B का दूरी­समय 츱Āाफ िदखाती ह ैजो एक सीधी रेखा के सगं
चल रही ह阮Ā। िन쫳Ā मᘮĀ स ेकौन सा कथन गलत ह?ै

Car B starts its journey a├er car A has started / कार B अपनी याĀा कार A के श搰ुĀ करन ेके बाद श搰ुĀ करती है

Car A moves faster than car B / कार A, कार B स े쩤Āादा तज़े चलती है



Car B overtakes car A / कार B, कार A को ओवरटके करती है

Car A moves at a speed 30 km/h / कार A 30िकमी/घटं ेके वगे पर चलती है

Correct Answer :­Car A moves faster than car B / कार A, कार B स े쩤Āादा तज़े चलती ह ै

65)

Question Stimulus :­

Separaĕng funnel is used to separate / पथृ︼Āारी कीप ___________ को पथृक करन ेमᘮĀ 䐴Āयोग होती ह।ै

Miscible  liquids / िमĀणीय 帳Āव

Immiscible liquids / अिमĀणीय 帳Āव

Insoluble solid in solvent / िवलायक मᘮĀ अघनुशील ठोस

Soluble solid in solvent / िवलायक मᘮĀ घलुनशील ठोस

Correct Answer :­Immiscible liquids / अिमĀणीय 帳Āव 

66)

Question Stimulus :­

The water kept in an earthen pot becomes cool during summer  due to / एक िम㙧Āी
के बत㸭Āन मᘮĀ रखा Āआ पानी गिम㸭Āयो ंके दौरान __________ के कारण ठंडा बना रहता है

Diffusion / िवसरण

Osmosis / परासरण

Evaporaĕon / वा눬Ȁन

Condensaĕon / सघंनन

Correct Answer :­Evaporaĕon / वा눬Ȁन 

67)

Question Stimulus :­

Which is the default mechanism due to which new gene combinations are occurring in nature? / वह िडफॉ  यंĀ
कौन सा ह ैिजसके कारण नय ेजीन सयंोजन 䐴Āकृित मᘮĀ हो रहᘮĀ ह阮Ā?

Asexual reproduction/  अल阮Āिगक जनन

Mutations / 髺Āटूशेन



Sexual reproduction / ल阮Āिगक जनन

Environmental factors / पया㸭Āवरणी कारक

Correct Answer :­Mutations / 髺Āटूशेन 

68)

Question Stimulus :­

Which of these is a disease of the bone, caused due to the deficiency of Vitamin D? / िन쫳Ā मᘮĀ स ेकौन सी ह繴Āी की
बीमारी ह,ै जो िवटािमन D की कमी के कारण होती ह?ै

Acromegaly  / अितकायता

Osteomalacia  / अĀ슄Ȁथमदृतुा

Osteomyelitis / अĀ슄ȀथमᩡĀा का 䐴Āदाह

Osteoporosis / ऑĀȀयोपोरोिसस

Correct Answer :­Osteomalacia  / अĀ슄Ȁथमदृतुा 

69)

Question Stimulus :­

Which out of the following factors associated with an ecosystem is Biotic? / पा숝ĀरĀ슄Ȁथितकी तंĀ के साथ जड़ु ेिन쫳Ā मᘮĀ
स ेकौन स ेकारक जीवीय ह阮Ā?

Quantity and quality of light / 䐴Āकाश का प숝Āरमाण और गणुव窅Āा

Temperature variation and availability of water / तापमान प숝Āरवत㸭Āन और जल की उपलĀता

Predation & parasitism / परभꉈĀण और परजीिवता

Parasitism & quality of light / परजीिवता और 䐴Āकाश की गणुव窅Āा

Correct Answer :­Predation & parasitism / परभꉈĀण और परजीिवता 

70)

Question Stimulus :­

Penicillin was first discovered by_________ / पिेनिसिलन सव㸭Ā䐴Āथम िकसके 꺢Āारा खोजी गई थी?

Alexander Fleming / अल刿ेĀᘮĀडर Āिेमगं

Joseph Lister/ जोसफे िलȀर



Louis Pasteur / लईुस पाȀर

Edward Jenner / एडवड㸭Ā जनेर

Correct Answer :­Alexander Fleming / अल刿ेĀᘮĀडर Āिेमगं 

71)

Question Stimulus :­

Average of 2,4,6,8,and 10 is/ 2,4,6,8,और 10 का औसत है

6

8

4

None / कोई नहीं

Correct Answer :­6 

72)

Question Stimulus :­

Average of 10 natural numbers is 28. Average of first 6 numbers is 30, and
average of last 5 is 26. What is the 6th number?/ 10 䐴Āाकृितक स졋ंĀाओ ंका औसत  28 ह।ै
पहली 6 स졋ंĀाओ ंका औसत 30 ह,ै और आिख़री 5 का औसत 26 ह।ै छठी स졋ंĀा ᱆Āा ह?ै

12

25

30

15

Correct Answer :­30 

73)

Question Stimulus :­

Five years ago, the total of the ages of a father and his son was 40 years, the ratio of their present ages is 4:1.
What is the present age of the father?/ पाचं साल पहल,े िपता और उसके लड़के की आय ुका योग 40 वष㸭Ā था, उनकी
वत㸭Āमान आय ुका अनपुात 4:1 ह।ै वत㸭Āमान मᘮĀ िपता की आय ुिकतनी ह?ै

35 years/ 35 वष㸭Ā



40 years/ 40 वष㸭Ā

45 years/ 45 वष㸭Ā

50 years/ 50 वष㸭Ā

Correct Answer :­40 years/ 40 वष㸭Ā 

74)

Question Stimulus :­

Fifteen years ago, Sundar was half of Pradeep in age. If the ratio of their
present ages is 4 : 5, what will be the total of their present ages?/ प帳ंĀह साल पहल,े
सुĀर की आय ु䐴Āदीप की आय ुकी आधी थी। यिद वत㸭Āमान मᘮĀ उनकी आय ुका अनपुात  4 : 5 ह,ै उनकी वत㸭Āमान आय ुका योग
िकतना होगा?

35 years/ 35 वष㸭Ā

55 years/ 55 वष㸭Ā

65 years/ 65 वष㸭Ā

45 years/ 45 वष㸭Ā

Correct Answer :­45 years/ 45 वष㸭Ā 

75)

Question Stimulus :­

13/17th of 51 is 51 / का 13/17वा ँभाग ह:ै

39

49

31

51

Correct Answer :­39 

76)

Question Stimulus :­

Five Thirteenth of 260 how much less than Eight Eleventh of 330? 260 / का पाचँ तरेहवा ँ330 ,के आठ 呖ĀारहवᘮĀ से
िकतना कम ह?ै



120

100

125

140

Correct Answer :­140 

77)

Question Stimulus :­

What is the next expression in the series? / Āखंला मᘮĀ अगली अिभ帘ȀĀ칀Ā कौन सी होगी? 
abbacc, cabbac, ccabba,_____

cacbba

abcabc

accabb

baccab

Correct Answer :­accabb 

78)

Question Stimulus :­

128.57% of 84 + 262.5% of 48 + 22.22% of 27 =? / 84 का 128.57% + 48 का 262.5% + 27 का 22.22% = ?

210

220

230

240

Correct Answer :­240 

79)

Question Stimulus :­

13% of 300 is 300 / का  13%ह:ै

39



42

49

50

Correct Answer :­39 

80)

Question Stimulus :­

In covering a certain distance, the speeds of A and B are in the ratio of 3 : 4. If A takes 30 min less than B to
reach the destination, the time taken by B to reach the destination will be: / एक िनिȀत दूरी को तय करन ेमᘮĀ A और
B की गित का अनपुात 3: 4 ह।ै यिद गतं帘Ȁ तक पĀचँन ेके िलए A, B स े30 िमनट कम लतेा ह ैतो गतं帘Ȁ तक पĀचँन ेके िलए B
को िन쫳Ā मᘮĀ स ेिकतना समय लगगेा?

1 hr  / 1 घटंा

hr /  घटंा

2 hr / 2 घटंा

hr /  घटंा

Correct Answer :­2 hr / 2 घटंा 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िन쫳Ā चार पतो ंमᘮĀ स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Adventure Schools

E­Mail: adventure@worldkayak.com

315 7th Street, S.E.

Washington, DC 20003

(202) 546­9211

(800) 51­KAYAK

Fax: (202) 546­3106



 

(i)     Adventure Schools

E­Mail: adventure@worldkayak.com

315 7th Street, S.E.

Washington, DC 20003

(202) 546­9211

(800) 51­KAYAK

Fax: (202) 546­3106

           

(ii)    Adventure Schools

E­Mail: adventure@worldkayak.com

315 7th Street, S.E.

Washington, DC 20003

(202) 546­9211

(800) 51­KAYAK

Fax: (202) 546­3106

 

(iii)   Adventure Schools

E­Mail: adventure@wordkayak.com

315 7th Street, S.E.

Washington, DC 2003

(202) 546­9211

(800) 51­KAYAK

Fax: (202) 546­3106

 

(iv)   Adventure Schools

E­Mail: adventure@worldkayak.com

315 7th Street, S.E.

Washington, DC 20003



(202) 546­9211

(800) 51­KAYAK

          Fax: (202) 546­3106

i

ii

iii

iv

Correct Answer :­iii 

82)

Question Stimulus :­

CANCELLED

The series given below contains a sequence of alphabets and numbers. Identify
the incorrect combination: / नीच ेदी गई Āखंला मᘮĀ अꉈĀरो ंऔर स졋ंĀाओ ंका 樱Āम सĀĀिलतह।ै गलत सयंोजन
पहचािनए:

 

i. b93bd4ss93fs6b            ii. b63bd4ss93gs6b

iii. b93bd4ss93gs6b         iv. b93bd4ss93gs6b

i

ii

iii

iv

Correct Answer :­i 

83)

Question Stimulus :­

By selling a scooter for Rs.9200, a man gains 15% .Find the cost price of the scooter? / एक 젮Ȁटर को 9200 搰Āपये
मᘮĀ बचेन ेपर एक 帘ȀĀ칀Ā को 15 % का लाभ 䐴ĀाⓃĀ होता ह।ै 젮Ȁटर का लागत म刎ूȀ ṢĀात करᘮĀ।

Rs 7600 / 搰Āपय े7600



Rs 8000 / 搰Āपय े8000

Rs 9200 / 搰Āपय े9200

None / कोई नहीं

Correct Answer :­Rs 8000 / 搰Āपय े8000 

84)

Question Stimulus :­

Find the next term in the series  4,9,16,25,___________. / Āखंला मᘮĀ अगला पद ṢĀात
कीिजए 4,9,16,25,_________.

32

42

55

36

Correct Answer :­36 

85)

Question Stimulus :­

Find the next term in the series 3,5,9,17,33,___________.  / Āखंला मᘮĀ अगला पद ṢĀात कीिजए 3,5,9,17,33,_________.

49

48

63

65

Correct Answer :­65 

86)

Question Stimulus :­

Question is based on an encryption system in which: /  䐴Ā吟Ȁ एकएĀ㱭Ȁ樱Ā晳Ȁशन 䐴Āणाली पर आधा숝Āरत है
िजसमᘮĀ:

(1) ‘La Pit Ta’ means ‘Mango is sweet’ / ‘La Pit Ta’ का मतलब ह ै‘Mango is sweet’

(2) ‘Na Sa Pit’ means ‘Mango and Banana’ / ‘Na Sa Pit’ का मतलब ह ै‘Mango and Banana’



(3) ‘Ba Ta Tik’ means ‘Boy is Wise’ / ‘Ba Ta Tik’ का मतलब ह ै‘Boy is Wise’

What is the code for ‘Banana’? /  ‘Banana’ के िलए ᱆Āा कोड ह?ै

Either ‘Na’ or ‘Tik’ / ‘Na’ अथवा ‘Tik’

Either ‘Ba’ or ‘Sa’ / ‘Ba’ अथवा ‘Sa’

Either ‘Na’ or ‘Sa’ / ‘Na’ अथवा ‘Sa’

Either ‘Ba’ or ‘Tik’ / ‘Ba’ अथवा ‘Tik’

Correct Answer :­Either ‘Na’ or ‘Sa’ / ‘Na’ अथवा ‘Sa’ 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े樱Āम मᘮĀ अगली आकृित कौन सी होगी?



Correct Answer :­  

88)

Question Stimulus :­

Take a look at the below statements: / नीच ेकथनो ंपर एक नजर डािलय:े

 

   1. H's son is G's grandson / H का बटेा G का पोता है

   2. H is F's brother / H, F का भाई ह ै

 

Which of the above 2 statements are necessary and sufficient to answer the below
question: / ऊपर 2 कथनो ंमᘮĀ स ेकौन स ेनीच े䐴Ā吟Ȁ का उ窅Āर दने ेके िलए आव㈢Ȁक और पया㸭ĀⓃĀ ह阮Ā:

 

If H is the brother of B, how is F related to G? / यिद H, B का भाई ह,ै तो F, G स ेकैस ेसबंिंधत ह?ै

1

2

1 and 2 / 1 और 2

Additional information required to answer the question / 䐴Ā吟Ȁ का उ窅Āर दने ेके िलए अित숝Āर칀Ā जानकारी की
आव㈢Ȁकता है

Correct Answer :­1 and 2 / 1 और 2 

89)

Question Stimulus :­

M + N means M is the husband of N / M + N का मतलब ह ैM, N का पित है

M ­ N means M is the father of N / M – N का मतलब ह ैM, N के िपता ह阮Ā



M ! N means M is the brother of N / M ! N का मतलब ह ैM, N का भाई है

M X N means M is the sister of N / M X N का मतलब ह ैM, N की बहन है

M = N means M is the wife of N / M = N का मतलब ह ैM, N की प몆Āी है

M @ N means M is the mother of N / M @ N का मतलब ह ैM, N की माता है

 

A =B ­C ! D @ E X F then which of the following must be true? / A =B ­C ! D @ E X F तो िन쫳Ā मᘮĀ
स ेकौन सा सही होना चािहए?

F is grandson of B / F, B का पोता है

E is granddaughter of A  /E, A की पोती है

E & F are sisters / E और F बहन ेह阮Ā

A is grandfather of E / A, E के दादा ह阮Ā

Correct Answer :­E is granddaughter of A  /E, A की पोती ह ै

90)

Question Stimulus :­

Which of the following is the mirror image of the word BANDANA? / िन쫳Ā मᘮĀ स ेशĀ BANDANA का दप㸭Āण 䐴ĀितिबĀ
कौन सा ह?ै

Correct Answer :­  

91)

Question Stimulus :­

A + B means A is father of B / A + B का मतलब ह ैA, B के िपता ह阮Ā

A ­ B  means A is mother of B / A ­ B  का मतलब ह ैA, B की माता है

A = B means A is husband of B / A = B का मतलब ह ैA, B का पित है



A x B means A is sister of B / A x B का मतलब ह ैA, B की बहन है

M + N ­ O = T   x   P then which of the following must be true? / M + N ­ O = T   x   P तो िन쫳Ā
मᘮĀ स ेकौन स ेस᲋Ā होन ेचािहए?

P is daughter‐in‐law of M. / P, M की बĀ ह।ै

N is mother‐in‐law of P. / N, P की सास ह।ै

O is grandson of M. / O, M का पोता ह।ै

T is granddaughter of M. / T, M की पोती ह।ै

Correct Answer :­O is grandson of M. / O, M का पोता ह।ै 

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िन쫳Ā 䐴Ā吟Ȁ मᘮĀ, पहल ेशĀ का दूसरे शĀ के साथ  िकसी 䐴Āकार स ेकोई सबंधं ह।ै यिद तीसरे शĀ का चौथ ेशĀ के
साथ उसी 䐴Āकार का सबंधं होना चािहए, तो चौथा शĀ होगा:

Atom : Element :: Cell :  ? / परमाण ु: तĀ :: सले : ?

Live / जीिवत

Tissue / ऊतक

Center / सᘮĀटर

Animal / जानवर

Correct Answer :­Tissue / ऊतक 

93)

Question Stimulus :­

In how many ways can the letters of the word ‘APPLE’ be arranged to form a five letter word? / ‘APPLE’ शĀ
के अꉈĀरो ंको िकतन े䐴Āकार मᘮĀ 帘ȀवĀ슄Ȁथत कर सकत ेह阮Ā िजसस ेिक एक पाचँ अꉈĀरो ंके शĀ का िनमा㸭Āण िकया जा सके?

50

48

60

120



Correct Answer :­60 

94)

Question Stimulus :­

Nitin travels 12 km in the southward direction and then travels 5 km to the right and then travels 15 km towards
the right and finally travels 5 km towards the east. How far is he from the starting place? / िनितन दिꉈĀण िदशा मᘮĀ
12 िकमी याĀा करता ह ैऔर िफर दायी ंओर 5 िकमी याĀा करता ह ैऔर िफर दायी ंओर 15 िकमी याĀा करता है
और अतं मᘮĀ परूब की ओर 5 िकमी याĀा करता ह।ै वह आरंभ िबदं ुस ेिकतनी दूर ह?ै

28.5 km / 28.5 िकमी

11.5 km / 11.5 िकमी

3 km / 3 िकमी

5 km / 5 िकमी

Correct Answer :­3 km / 3 िकमी 

95)

Question Stimulus :­

Tanmay started from his house and went 2 km straight. He then turned towards his right and went 1 km. He
turned again towards his right and went 1 km. If Tanmay is north­west from his house, then in which direction
did he go in the beginning? / त钽Āय न ेअपन ेघर स ेश搰ुĀ िकया और 2 िकमी सीधा गया। िफर वह अपनी दायी ंओर
मड़ुा और 1 िकमी गया। वह िफर अपनी दायी ंओर मड़ुा और 1 िकमी गया। यिद त钽Āये अपन ेघर स ेउ窅Āर­पिȀम िदशा
मᘮĀ ह,ै तो वह श搰ुĀआत मᘮĀ िकस िदशा मᘮĀ गया?

North­East / उ窅Āर­परूब

South / दिꉈĀण

South­East / दिꉈĀण­परूब

West / पिȀम

Correct Answer :­West / पिȀम 

96)

Question Stimulus :­

Select the option, which is the logical equivalent of the given statement:/ वह िवक∍Ȁ चिुनय ेजो
तक㸭Ā की 㙢Ȁि訪Ȁ स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If Ram plays cricket, then the team will win / यिद राम ि樱Āकेट खलेता ह,ै तो टीम जीतगेी

If Ram doesn’t play cricket, then the team will not win / यिद राम ि樱Āकेट नही ंखलेता ह,ै तो टीम नही ंजीतगेी



The team won. Ram played the cricket / टीम जीत गई। राम न ेि樱Āकेट खलेा

If the team lost, then Ram didn’t play the cricket / यिद टीम हार गई, तो राम न ेि樱Āकेट नही ंखलेा

If Ram doesn’t play cricket, then the team will win / यिद राम ि樱Āकेट नही ंखलेता ह,ै तो टीम जीतगेी

Correct Answer :­If the team lost, then Ram didn’t play the cricket / यिद टीम हार गई, तो राम न ेि樱Āकेट
नही ंखलेा 

97)

Question Stimulus :­

Select the option, which is the logical equivalent of the given statement: / वह िवक∍Ȁ चिुनय ेजो
तक㸭Ā की 㙢Ȁि訪Ȁ स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If Tanvi checks the reports, then there will not be any mistake. / यिद त킾Āी 숝Āरपोट砯Ā की जाचं करती ह,ै
तो कोई भी गलती नही ंहोगी।

If Tanvi doesn’t checks the reports, then there will not be any mistake. / यिद त킾Āी 숝Āरपोट渮Ā चके नही ंकरती ह,ै
तो कोई भी गलती नही ंहोगी।

If Tanvi doesn’t checks the reports, then there will be mistakes. / यिद त킾Āी 숝Āरपोट渮Ā चके नही ंकरती ह,ै तो
गलितया ँहोगंी।

If there is no mistake, then Tanvi hadn’t checked the reports. / यिद कोई गलती नही ंह,ै तो त킾Āी न े숝Āरपोट渮Ā
चके नही ंकी ह阮Ā।

If there is mistake, then Tanvi hadn’t checked the reports. / यिद कोई गलती ह,ै तो त킾Āी न े숝Āरपोट渮Ā चके नहीं
की ह阮Ā।

Correct Answer :­If there is mistake, then Tanvi hadn’t checked the reports. / यिद कोई गलती ह,ै तो त킾Āी
न े숝Āरपोट渮Ā चके नही ंकी ह阮Ā। 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह阮Ā:

Statements:  / कथन:

All Indians are illiterate.  / सभी भारतीय अनपढ़ ह阮Ā।

Ramesh is an Indian. / रमशे एक भारतीय ह।ै

Conclusions:  / िन爩Ȁष㸭Ā:

I. Some illiterate people are Indians / I. कुछ अनपढ़ लोग भारतीय ह阮Ā



II. Ramesh is illiterate. / II. रमशे अनपढ़ ह।ै

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Both I and II follow / दोनो ंI और II िनकलत ेह阮Ā

Either I or II follows / या तो I या िफर II िनकलता है

Correct Answer :­Both I and II follow / दोनो ंI और II िनकलत ेह阮Ā 

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह阮Ā:

Statements: / कथन:

All hills are dangerous. / सभी पहाड़ खतरनाक ह阮Ā।  

Himalaya is not a hill / िहमालय एक पहाड़ नही ंहै

 

Conclusions:  / िन爩Ȁष㸭Ā:

I. Anything which is dangerous is a hill. / I. कुछ भी जो खतरनाक ह,ै एक पहाड़ ह।ै

II. Himalaya is not dangerous.  / II. िहमालय खतरनाक नही ंह।ै

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Either I or II follows / या तो I या िफर II िनकलता है

Neither I nor II follows / I या II कोई भी नही ंिनकलता है

Correct Answer :­Neither I nor II follows / I या II कोई भी नही ंिनकलता ह ै

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह
कथन चिुनय ेजो िदय ेगय ेकथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह阮Ā:

Statements: / कथन:



Some interviews are exams / कुछ इटंर帘Ȁ ूपरीꉈĀाएं ह阮Ā

All exams are tests / सभी परीꉈĀाएं टेȀ ह阮Ā

 

Conclusions: / िन爩Ȁष㸭Ā:

I.All tests are exams / I. सभी टेȀ परीꉈĀाएं ह阮Ā

II.Some tests are interviews / II. कुछ टेȀ इटंर帘Ȁ ूह阮Ā

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Both conclusion I and II follows / िन爩Ȁष㸭Ā I और II दोनो ंिनकलत ेह阮Ā

None of the conclusion I and II follows / िन爩Ȁष㸭Ā I और II मᘮĀ स ेकोई भी नही ंिनकलता है

Correct Answer :­Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता ह ै


